Goteborgs BF
Grupp B, rond 3, 15-28

IMP over faltet, 12 bord, 12 par. Antal brickor: 14.

Plac Par Poéng Namn MID
1 205 1.79 Kjell Berndtsson - Jacob Kleiven 4970 29713
2 106 1.26 Barbro Josefsson - Kent Josefsson 26199 26200
3 3 1.24 Johan Svensson - Ingrid Petersen 11900 12906
4 303 0.53 Robert Back - Lena Petersen 11174 12966
5 305 0.49 Kristina Bergman - Eric Skoog 28393 59083
6 6 0.30 Lena Starkenberg - Eva Thorsson 28552 4963
7 206 -0.30 Rolf Ewreskar - Elizabeth Ewreskar 38622 38623
8 105 -0.49 Gunnar Jansson - Tore Mattsson 51436 5086
9 103 -0.53 Hakan Arebrink - Anders lhalainen 85327 4892
10 203 -1.24 Sven-Erik Karlsson - Vigo Silfverlin 14917 61255
11 306 -1.26 Barbara Adielsson - Berit Mauritzson 86964 17262
12 5 -1.79 Lars Hogblom - Birgitta Norsted 28397 28403
15 4 Knl107 Bésta kontrakt 16 & K96 Bésta kontrakt 17 4 E10542 Bésta kontrakt
Syd v KDKn74 INTV =-90 Vast vKD1094 24 V =-110 Nord v- 4¢ N =130
NS +3 oV ¢ K43 Ingen + ED93
#10743 & ¢ v & NT #109 & ¢ v & NT #E1075 & ¢ v & NT
4 EK62 4D94 N6 6 756 « EKn8742 4D N4 46 45 4 Kn 4 K98763 N7 108 7 7
v93 v E1065 S 66756 v52 v E87 S 44645 v 9865 v K103 S 7 108 7 7
+ 10864 ¢ Kn97 057577 ¢ EKn ¢+ D9876 0886 87 ¢KKn1l0 ¢74 053465
*E96 #Kn85 V57577 &#E62 #Kn854 V886 87 #KDKn84 #92 V6 3566
4853 41053 4D
v 82 v Kn63 v EDKn742
¢ EKD52 + 1052 4 8652
#KD2 #KD73 #63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 203 2¢v N-1 44  -100 9.0 -9.0 3 203 24 V= vK -110 3.0 -3.0 5 205 3v S= #J 140 17.0 -17.0
5 205 2¢ S-1 9 -100 9.0 -9.0 5 205 24 V= vK -110 3.0 -3.0(103 303 2¢ N+1 «9 110 11.0 -11.0
105 305 2¢¥ N-1 ¢7  -100 9.0 -9.0 6 206 24 V= vK -110 3.0 -3.0(105 305 2¢ N+1 &9 110 11.0 -11.0
6 206 2¢ S-2 #A -200 -90 90|105 305 24 V= vK -110 3.0 -30 3 203 3NN-1 &9 -50 -13.0 13.0
103 303 INS-2 46 -200 -90 9.0(103 303 3y N-3 4A -150 -3.0 3.0 6 206 3¢ N-1 ¢3 -50 -13.0 13.0
106 306 2¢ S-2 &4A -200 -90 9.0(106 306 34 V+1 ¢K -170 -90 9.0|106 306 3v S-1 &K -50 -13.0 13.0
18 21074 Bésta kontrakt 19 & E43 Bésta kontrakt 20 » 10954 Bésta kontrakt
Ost v Kn10986 2¢ O =-90 Syd v EK942 4v S =420 Vast vE2 44 N =620
NS + K96 oV + E96 Alla + DKn109
+KD & ¢ v & NT #E5 & ¢ v & NT #1076 & ¢ v & NT
4« Kn6 « ED85 N557 66 « D82 &« KKn75 N7 9 109 9 463 « Kn8 N8 9 6 108
vD5 vEK S55776 v 85 vD106 S 7 9 109 9 vDKn6 v108754 S8 9 6 108
¢+ D8753 ¢ 1042 08856 6 + 107 ¢ Kn842 06 3343 ¢+ K652 ¢ EA43 O5 46 3 4
&#E763 #9542 V 8856 6 #D98763 #Knl0 V63343 #E942 #Kn85 V546 34
& K932 41096 4 EKD72
v 7432 vKn73 v K93
¢ EKn + KD53 + 87
#Kn108 *K42 #KD3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
106 306 2NO-3 v2 150 15.0 -15.0 5 205 4v N+1 &#J 450 17.0 -17.0 6 206 44 S= vQ 620 42.0 -42.0
6 206 2v N+1 +2 140 15.0 -15.0|103 303 4y N= #J 420 11.0 -11.0|106 306 44 S= vQ 620 42.0 -42.0
3 203 INV-1 vJ 50 -20 20[105 305 4y N= 46 420 11.0 -11.0 3 203 INS+2 #4 150 -14.0 14.0
5 205 INV-1 vJ 50 -20 2.0(106 306 4y N= ¢8 420 11.0 -11.0|103 303 INS+2 46 150 -14.0 14.0
103 303 INV-1 vJ 50 20 20 6 206 2NS+2 #8 180 -25.0 25.0(105 305 INS+2 5 150 -14.0 14.0
105 305 24 0= +¢A -90 -24.0 240 3 203 1y N+3 ¢4 170 -25.0 25.0 5 205 44 S-1 vQ -100 -42.0 420
21 « E54 Bésta kontrakt 22 #1032 Bésta kontrakt 23 48 Bésta kontrakt
Nord v Kn543 44 O D -2 300 Ost v Kn1092 5NT O =-660 Syd v 1093 5v SD-1-200
NS 41085 ov ¢ Kn52 Alla + ED106532
#ED6 & ¢ v & NT *E74 & ¢ v & NT #53 & ¢ v & NT
4Kn93  4K1072 N5 106 7 9 a5 « EKD6 N3 2442 4 E10543 4 D9762 N6 9 102 8
v EKD87 v102 S 5 106 7 9 v E854 v 763 S 32442 vD v 7652 S 6 9 102 8
2 ¢+ D97 08 366 4 +D10843 ¢ EK7 09 119 8 11 + KKn8 ¢ 7 07 11101
#K832  &#Knl1094 V 8 366 4 #KKn6 D108 vV 9 119 8 11 #EKD4  #Knl108 V741101
D86 « Kn9874 & KKn
v 96 vKD v EKKn84
¢+ EKKNn643 + 96 +94
*75 #9532 #9762
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 203 3NN= T 600 52.0 -52.0 5 205 3NO+2 #3  -660 3.0 -3.0(106 306 34 V+1 ¢A -170 450 -45.0
6 206 44 O-3 ¢A 150 -20 2.0(103 303 3NO+2 44  -660 3.0 -3.0 3 203 5¢ N-2 2 -200 41.0 -410
105 305 3v V-3 ¢2 150 -20 2.0/|106 306 3NO+2 #3 -660 3.0 -30 6 206 44 O= <vA -620 -80 80
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5 205 3¢ S+1 vA 130 50 50 3 203 BNO+3 #2 690 -30 3.0(105 305 44V= ¢v3 -620 -80 80
103 303 3¢ S= vA 110 -7.0 7.0 6 206 BNO+3 #9 690 -3.0 3.0(103 303 44 V+1 &5 -650 -12.0 120
106 306 2v V= T -110 -36.0 36.0|105 305 3NO+3 44 -690 -3.0 3.0 5 205 5vDS-4 #A -1100 -58.0 58.0
24 & KKn2 Basta kontrakt 25 4 DKn102 Basta kontrakt 26 4 EKKn1082 Basta kontrakt
Vast v Kn32 5v V =-450 Nord vD10874 3¢ O =-110 Ost v K87 4v O =-620
Ingen 41082 ov ¢ D2 Alla 41032

#EKn92 & ¢ v & NT *K7 & ¢ v & NT +10 & ¢ v & NT
a7 « ED9863 N55125 #9863 « EK N4 4655 Ly 963 N33377
vK765 vD1098 S54125 v6 v EKn92 S44655 vEKNn10942 vD S$33377
¢+KD9% ¢ E4 O 7 8 11108 ¢ KKn87 41095 099677 ¢ Kn65 + EK87 09 9 105 6
#K1065 #7 vV 7 8 11108 #Knl1042 #E965 V99677 *K94 *E8632 V 9 9 105 6

41054 4754 4 D75

vE4 v K53 v 653

+ Kn753 + E643 + D94

«D843 »D83 #DKn75

Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang

3 203 44 0= ¢2 420 40 -40(103 303 2v N-2 T -100 70 -7.0 3 203 24 N= vQ 110 28.0 -28.0

6 206 44 O= vA -420 40 -40 3 203 INO+1 ¥3 -120 10 -1.0 6 206 3#O-1 &5 100 28.0 -28.0
106 306 4v V= ¢T -420 40 -40(105 305 INO+1 ¢5 -120 1.0 -1.0{106 306 3v V-1 «A 100 28.0 -28.0

5205 4v O+1 T -450 -20 20(106 306 INO+1 3 -120 10 -1.0|103 303 3vV+1l «A -170 -80 8.0
105 305 4v O+1 &5 -450 -20 2.0 5205 INO+2 3 -150 -50 50(105 305 44 N-2 ¢A -200 -10.0 100
103 303 4v V+2 v2 -480 -8.0 8.0 6 206 INO+2 3 -150 -50 50 5 205 44DN-3 vQ -800 -66.0 66.0
27 D6 Basta kontrakt 28 « EK964 Basta kontrakt
Syd v KD86 6NT S =990 Vast v5 44 N =620
Ingen ¢ EKKn NS + 109874

#EKn97 & ¢ v & NT +106 & ¢ v & NT

~ K8 41095432 N 128 128 11 « 105 43 N 48 6 108

vE103 v54 S 129 128 12 vD873  vKnl042 S 486 108

¢ D109873 ¢ 654 014151 ¢ EKn53 ¢ D2 074735

*82 »D3 V14151 #753 #EDKN842 V 7 3 7 3 5

« EKn7 « DKn872
v Kn972 v EK96
2 + K6
+K10654 *K9

Par Kontr ut Res Poang Par Kontr ut Res Poang

3 203 4v N+2 v5 480 7.0 -7.0|106 306 44 S+1 &7 650 50 -5.0

5 205 4v N+2 #Q 480 70 -7.0 3 203 44 N= vJ 620 -1.0 1.0
106 306 4v N+1 45 450 1.0 -1.0 5 205 44 S= &5 620 -1.0 1.0
105 305 3NN+1 4T 430 -50 50 6 206 44 N= #7 620 -1.0 1.0

6 206 4v N= T 420 -50 50103 303 44 S= v7 620 -1.0 10
103 303 54 N+1 ¢4 420 -50 50105 305 44 N= ¢Q 620 -1.0 10
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